162

N
CD—Z\?"SE-ES

nn HE-Za—R
AL B ak ey

HEEELETHE, BLLAAA A LPERLREFBTELLI EARELBE LS
2 T2, TDN20MRBFELTr=7ICRNA0H, [13bALy ]| THE,

David Kuria, a Kenyan s architect, has 5 come up with one
*7solution to this problem’: the Ikotoilet. It is a building that
contains toilets, showers, and #8 drinking fountains, all of
which can be used for a very small 5 amount of money.

% Besides being ' inexpensive, the Ikotoilet has two other
important 6 features, The first is that it is designed to do

# minimum damage to the environment. The toilets use as
little water as possible, and the waste produced is recycled
as % fertilizer. The second is that the Ikotoilets are designed
to be fun, with music, a small shop selling  refreshments,
and other ¢ facilities.
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